
FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Servo Board v4
servo-v4-hw.git/servo-1-title.sch

1 5 Richard Barlow <richard@richardbarlow.co.uk>

Page Description
1

2

3

Title, Block Diagram

Power (Reverse Polarity Protection, 5V5 SMPS, 5V LDO, Power Monitoring, MOSFET Switch)

Output (I2C Isolator, GPIO Expander, Servo Outputs)

The full source of this design is available at:
https://www.studentrobotics.org/git/boards/servo-v4-hw.git B

12V

4

5

Control (µC, USB, 3V3 LDO)

Mechanical

  Aux
Power

MOSFET
Switch

Power
Monitoring

GPIO
Expander

µC

USB

I2C
Isolator

3V3 LDO

5V5 SMPS

Servo
   x8

Servo
   x4

5V LDO

RPP*RPP*

*Reverse Polarity Protection



FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Servo Board v4 - Control
servo-v4-hw.git/servo-2-control.sch

2 5 Richard Barlow <richard@richardbarlow.co.uk>

B

1
VBUS

2
D-

3
D+

4
ID

5
GND

6
SHIELD

U
S

B

J2
sr-cn-usb-micro-b

C11
sr-c-10n-0402-25v

C12
sr-c-100n-0402-16v

L5
sr-fb-300m-0603

C14
sr-c-100n-0603-50v

R6
sr-r-1000k-0402

VBAT
1

VSSa
8

VDDa
9

VSS1
23

VDD1
24

VSS2
35

VDD2
36

VSS3
47

VDD3
48

EP
EP

U2
sr-ic-stm32f103c6u

TAMPER-RTC/PC13
2

OSC32_IN/PC14 3

OSC32_OUT/PC15 4

OSC_IN/(PD0) 5

OSC_OUT/(PD1) 6

RST
7

PA0/ADC_IN0/WKUP10

PA1/ADC_IN111

PA2/ADC_IN2/USART2_TX12

PA3/ADC_IN3/USART2_RX13

PA4/ADC_IN414

PA5/ADC_IN515

PA6/ADC_IN616

PA7/ADC_IN717

PB0/ADC_IN818

PB1/ADC_IN919

PB2/BOOT1*
20

PB10*
21

PB11*
22

PB12*
25

PB13*
26

PB14*
27

PB15*
28

PA8*
29

PA9/USART1_TX*30

PA10/USART1_RX*31

PA11/USBDM*
32

PA12/USBDP*
33

*TMS/(PA13) 34

*TCK/(PA14) 37

*TDI(PA15) 38

*TDO/(PB3) 39

*TRST/(PB4) 40

PB5
41

PB6/I2C1_SCL*42

PB7/I2C1_SDA*43

BOOT0
44

PB8*
45

PB9*
46

U2
sr-ic-stm32f103c6u

2

1
D5
sr-d-pesd5z12

1 VBUS

2 DIN

3 DIN

6GND

5DOUT

4DOUT

U3
sr-ic-stf202

1 3

2 4

Y1
sr-xtal-abmm2-8.000mhz-e2-t

C15
sr-c-27p-0402-50v

C16
sr-c-27p-0402-50v

R8
sr-r-100-0402

C19
sr-c-100n-0402-16v

VTref
1

TMS/SWDIO
2

GND
3

TCK/SWCLK
4

GND
5

TDO/SWO
6

TDI
8

GNDDetect
9

nRESET
10

J3
sr-cn-header2x5-1.27mm

R7
sr-r-10k-0402

R10
sr-r-1k-0402

R9
sr-r-1k-0402

C3
sr-c-100n-0402-16v

C4
sr-c-100n-0402-16v

C6
sr-c-22u-0805-10v

C5
sr-c-100n-0402-16v

C8
sr-c-100n-0402-16v

L2
sr-fb-200m-1k-0402

nReset

SIG

SIGBOOT0

+3V3

+3V3

SIG

SIG

+3V3

SIG

SIG

USB_EN

SIG

VUSB

SIG

C13
sr-c-1u-0402-10v

3
OUT

1
GND

4
IN(Tab)

2
IN

U1
sr-ic-mcp1700t3302emb

C1
sr-c-1u-0402-10v

C2
sr-c-1u-0402-10v

SIG

+3V3

L1
sr-fb-300m-0603

VUART

1
2

DS1
sr-led-green-0805

R1
sr-r-100-0402

R3
sr-r-4k7-0402

1 2

3

D4
sr-d-bat54c

R2
sr-r-4k7-0402

+3V3

SIG

+3V3

+3V3

SIG

ASCL

ASDA

1
2

DS2
sr-led-blue-0805

8
1

RN1
sr-ra-4-100-0402

LE
D

0

SIG

1
2

DS3
sr-led-blue-0805

7
2

RN1
sr-ra-4-100-0402

LE
D

1

SIG

1
2

DS4
sr-led-blue-0805

6
3

RN1
sr-ra-4-100-0402

LE
D

2

SIG

1
2

DS5
sr-led-blue-0805

5
4

RN1
sr-ra-4-100-0402

LE
D

3

SIG

1
2

DS6
sr-led-blue-0805

8
1

RN2
sr-ra-4-100-0402

LE
D

4

SIG

1
2

DS7
sr-led-blue-0805

7
2

RN2
sr-ra-4-100-0402

LE
D

5

SIG

1
2

DS8
sr-led-blue-0805

6
3

RN2
sr-ra-4-100-0402

LE
D

6

SIG

1
2

DS9
sr-led-blue-0805

5
4

RN2
sr-ra-4-100-0402

LE
D

7

SIG

USB_EN

1
2

DS11
sr-led-blue-0805

8
1

RN3
sr-ra-4-100-0402

LE
D

8

1
2

DS12
sr-led-blue-0805

7
2

RN3
sr-ra-4-100-0402

LE
D

9

1
2

DS13
sr-led-blue-0805

6
3

RN3
sr-ra-4-100-0402

LE
D

10

1
2

DS14
sr-led-blue-0805

5
4

RN3
sr-ra-4-100-0402

LE
D

11

+3V3 +3V3 +3V3 +3V3

SIG

LED0
LED1
LED2
LED3
LED4
LED5
LED6
LED7

LED8
LED9

LED10
LED11

1
2

DS10
sr-led-redblue-dual

4
3

DS10
sr-led-redblue-dual

R4
sr-r-100-0402

R5
sr-r-100-0402

+3V3+3V3

S
T

A
T

U
S

_R
E

D

S
T

A
T

U
S

_B
LU

E

STATUS_BLUE
STATUS_RED

3

2

4

1

J1
sr-cn-minicamcon4w

3

2 1

D3
sr-d-mmbz15val

SIG

C7
sr-c-100n-0402-16v

1
2

3

D1
sr-d-bat54c

2
1

D2
sr-d-1sma5918bt3g

F1
sr-fuse-r200-1206VUSB

VUART

L4
sr-fb-200m-1k-0402

L3
sr-fb-200m-1k-0402

C9
sr-c-1n5-0402-50v

C10
sr-c-1n5-0402-50v

SIG

SIG

SIG

C18
sr-c-100n-0402-16v

R14
sr-r-10k-0402

R13
sr-r-10k-0402

R12
sr-r-10k-0402

1

3

2

Q1
sr-npn-bc846b

R11
sr-r-10k-0402

+3V3

C17
sr-c-470n-0603-25v

1
2

S1
sr-sw-button-ra

+3V3

Minimum of 3ms pulse on BOOT0.
1ms pulse on nReset while BOOT0 is high.

TP3

TP2TP1

TP4

TP7

TP5 TP6

TP9

TP10

TP8

TP11



FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Servo Board v4 - Power
servo-v4-hw.git/servo-3-title.sch

3 5 Richard Barlow <richard@richardbarlow.co.uk>

B

2

1

J4
sr-cn-camcon2w

2

1

J5
sr-cn-camcon2w-5mm

1 Vin+

2 Vin- 6SDA

5SCL

3
GND

4
Vs

7
A0

8
A1

U6
sr-ic-ina219

R18
sr-r-3m-1210-1w

C32
sr-c-100n-0402-16v

C31
sr-c-100n-0402-16v

R19
sr-r-10-0402

R21
sr-r-10-0402

5V5_SMPS

5V_LDO

3
OUT

1
GND

4
IN(Tab)

2
IN

U4
sr-ic-mcp1703t5002emb

C20
sr-c-1u-0603-16v

C22
sr-c-1u-0402-10v

12V 5V_LDO

6
Trim

2
Vin

4
Vout

10
PGood

5
Vsense

7
GND

1 On/Off

3
GND

U5
sr-ic-pvx012a0x3

C24
sr-c-22u-1210-16v

C23
sr-c-22u-1210-16v

C25
sr-c-22u-1210-16v

C30
sr-c-1n5-0402-50v

R16
sr-r-330-0402

R20
sr-r-2k49-0402

C26
sr-c-47u-1206-6v3

C27
sr-c-47u-1206-6v3

C28
sr-c-47u-1206-6v3

C29
sr-c-47u-1206-6v3

12V

PWR

PWR

PWR

PWR

PWR

PWR

PGOOD

SMPS_EN

4

8

1

765

23

Q2
sr-fet-p-si7655adn

R15
sr-r-10k-0402

PWR

PWR

2
1

D7
sr-d-edz51v

4

8

1

765

23

Q3
sr-fet-p-si7655adn

R23
sr-r-10k-0402

PWR

2
1

D9
sr-d-edz51v

VAUX

48 1

7
6

5

2
3

Q4
sr-fet-p-si7655adn

4 81

7
6

5

2
3

Q5
sr-fet-p-si7655adn

R22
sr-r-10k-0402

2
1

D10
sr-d-edz51v

5V5_SMPS

1

3

2

Q6
sr-fet-n-bsh121

PWR

R24
sr-r-10k-0402

LINK_EN

C35
sr-c-1n5-0402-50v

BSCL

BSDA

C21
sr-c-100n-0603-50v

D6
sr-d-smaj15ca

PWR

C34
sr-c-100n-0603-50v

D8
sr-d-smaj15ca

5V_LDO

5V5_SMPS

PWR_GND

PWR

SMPS_EN

LINK_EN

PGOOD

VAUX

C33
sr-c-22u-1210-16v

PWR

R17
sr-r-10k-0402

5V_LDO

TP13

TP17

TP12 TP14

TP16

TP18 TP19

TP21

TP20

TP22

TP26

TP23

TP15

TP25

TP24

TP27

TP28

R33
sr-r-390-0402



FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Servo Board v4 - Output
servo-v4-hw.git/servo-4-output.sch

4 5 Richard Barlow <richard@richardbarlow.co.uk>

B

GPB0
1

GPB1
2

GPB2
3

GPB3
4

GPB4
5

GPB5
6

GPB6
7

GPB7
8

SCL
12

SDA
13

A0
15

A1
16

A2
17

RESET
18

INTB
19

INTA
20

GPA0
21

GPA1
22

GPA2
23

GPA3
24

GPA4
25

GPA5
26

GPA6
27

GPA7
28

U7
sr-ic-mcp23017ess

C38
sr-c-100n-0402-16v

PWR

5V_LDO

C37
sr-c-1u-0402-10v

5V_LDO

R28
sr-r-10k-0402

PWR

R26
sr-r-1k-0402

AVDD
1

AGND
4

BGND
5

BVDD
8

U8
sr-ic-si8602ac

ASDA2

ASCL
3

BSCL
6

BSDA 7

U8

BSCL is push-pull - no pull-up required.

sr-ic-si8602ac

C39
sr-c-100n-0402-16v

C40
sr-c-100n-0402-16v

5V_LDO

PWR

ASCL

ASDA

3
2
1

5
4

6

8
7

9

10
11

12

13
14

15

16
17

18

19
20

21

22
23

24

J7
sr-cn-header3x8-ra

3
2
1

5
4

6

8
7

9

10
11

12

J6
sr-cn-header3x4-ra

54

RN5
sr-ra-4-330-0402

63

RN5
sr-ra-4-330-0402

72

RN5
sr-ra-4-330-0402

81

RN5
sr-ra-4-330-0402

54

RN6
sr-ra-4-330-0402

72

RN6
sr-ra-4-330-0402

63

RN6
sr-ra-4-330-0402

81

RN6
sr-ra-4-330-0402

54

RN4
sr-ra-4-330-0402

63

RN4
sr-ra-4-330-0402

72

RN4
sr-ra-4-330-0402

81

RN4
sr-ra-4-330-0402

PWR

5V5_SMPS

PWR

VAUX

VDD
9

VSS
10

U7
sr-ic-mcp23017ess

PWR

R27
sr-r-10k-0402

R25
sr-r-10k-0402

OUT7
OUT6

OUT1

OUT5

OUT2

OUT4

OUT3

OUT3

OUT4

OUT2

OUT5

OUT1

OUT6

OUT0

OUT7

OUT8

OUT11

OUT10

OUT9

OUT9

OUT10

OUT8

OUT11

BSCL

BSDA

SMPS_EN

LINK_EN

PGOOD

SMPS_EN
LINK_EN
PGOOD

5V_LDO

5V_SMPS

VAUX

PGND
PWR

3V3

SIG_GND

SIG

C42
sr-c-22u-1210-16v

C41
sr-c-22u-1210-16v

C43
sr-c-22u-0805-10v

C44
sr-c-22u-0805-10v

VAUX_MON

R31
sr-r-10k-0402

R32
sr-r-10k-0402

PWR

VAUX

VAUX_MON

1
2

DS15
sr-led-green-0805

R29
sr-r-390-0402

PWR

5V5_SMPS

1
2

DS16
sr-led-green-0805

R30
sr-r-390-0402

PWR

VAUX

3

2 1

D12
sr-d-mmbz15val

3

2 1

D13
sr-d-mmbz15val

PWR PWR

3

2 1

D17
sr-d-mmbz15val

3

2 1

D18
sr-d-mmbz15val

PWR PWR

3

21

D14
sr-d-mmbz15val

3

21

D15
sr-d-mmbz15val

PWR PWR

PWR

PWR

PWR

PWR

PWR

PWR

PWR

PWR

PWR

PWR

PWR

PWR

PWR

PWR

2

1
D11
sr-d-pesd5z12

PWR

2

1
D16
sr-d-pesd5z12

PWR

1

3

2

Q7
sr-npn-bc846b

TP29

TP30

TP31

+3V3

OUT0



FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Servo Board v4 - Mechanical
servo-v4-hw.git/servo-5-mechanical.sch

5 5 Richard Barlow <richard@richardbarlow.co.uk>

B

MP1

sr-mech-screw-nylon-csk-m3-6

MP4

sr-mech-screw-nylon-csk-m3-6

MP7

sr-mech-screw-nylon-csk-m3-6

MP10

sr-mech-screw-nylon-csk-m3-6

MP2

sr-mech-screw-nylon-csk-m3-6

MP5

sr-mech-screw-nylon-csk-m3-6

MP8

sr-mech-screw-nylon-csk-m3-6

MP11

sr-mech-screw-nylon-csk-m3-6

Misc

MP3

sr-mech-spacer-ni-m3-14

Misc

MP6

sr-mech-spacer-ni-m3-14

Misc

MP9

sr-mech-spacer-ni-m3-14

Misc

MP12

sr-mech-spacer-ni-m3-14

Misc

MP13
sr-nothing

case.dxf in 3mm clear acrylic


